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HMsHA K& 21,024 28,400 AT,376
101 @124l 6,024 8,400 A2,376
04 D12t 22 HEE =+ 6,024 8,400 A2,376
O=2H & =2 Msla A=z X =2 6,024
201 ¢4l 15,000 20,000 A5,000
03 A2 Z Hl 15,000 20,000 A5,000
OMSEH AR 15,000
dlzd FIUXNI L HALL B 82,000 50,000 32,000




2N nEMs
3 s 243

el MM OHE ¥ XS (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
202 Od4dl 2,000 0 2,000
01 = LHA YI 2,000 0 2,000
O&Xed KX 2,000
307 glz2tol & 80,000 50,000 30,000
02 HAHFHAANGFEX 80,000 50,000 30,000
O&Xed RAINE & ML 80,000
= 530 HUA 3 15,000 15,000 0
307 21201 A 15,000 15,000 0
02 LAFLAFEX 15,000 15,000 0
020188 &&= &= sz H LA 3l 15,000
&= 23 40,000 40,000 0
307 gl2tol & 40,000 40,000 0
02 IZtA M AHE X 40,000 40,000 0
OM73s 82 2 U3 40,000
ZSU A= BHECQE 3l 20,000 20,000 0
307 g1zl & 20,000 20,000 0
02 LIt MAHEE 20,000 20,000 0
OHM11al =&t 8= BHERIE S 20,000
DCOtLE =W SZFIIHsE 300,000 220,000 80,000
307 21201 A 300,000 220,000 80,000
02 HAFAAHEX 300,000 220,000 80,000
OXI18%l OtAIOIEHAIANO0IE d=2U2 E 20
188 Z2Iot LE ZMEAZIIUSE 300,000
SZUMETE d=2 F4AH S20U3 80,000 50,000 30,000
307 glz2tol & 80,000 50,000 30,000
02 It M AHEE 80,000 50,000 30,000
OM1e =&gdd 83 749 =102 80,000
&S Ol HLULA 3 7,000 5,000 2,000
307 21201 A 7,000 5,000 2,000
02 QB AAFEX 7,000 5,000 2,000
02018 &M= Ol=HILIA THEl 7,000
MEBER3 A ISMNEUHS L 3 NEZ S22 20,000 20,000 0
3l
307 glz2+ol & 20,000 20,000 0
02 HAFHAANGEEX 20,000 20,000 0
ORMI332l MBEgLAEI UEMEU= & 2018
23 NES dgiial 20,000
d8 20 & D2SHIAE A=A 3 10,000 10,000 0




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 10,000 10,000 0
02 DIZtZAAMEE X 10,000 10,000 0

02018¥ HI133l Z2IHHIAE 2= AU 3 10,000

SRAANFI U E 30,000 20,000 10,000
307 212t01 & 30,000 20,000 10,000
02 Q2B AMAIEE =X 30,000 20,000 10,000

OYJAEI E=2 H2U3S 30,000

43 =g 8= 0tetEU S 30,000 20,000 10,000
307 212t0| & 30,000 20,000 10,000
02 DI2HE AAIEE X 30,000 20,000 10,000

Oodd =g &= 0t2tEU 3 30,000

SAANEH A= 20U 40,000 40,000 0
307 QI2t0| ™ 40,000 40,000 0
02 DIZtZAAMEE X 40,000 40,000 0

OHM26s & 2 =2H Z2=U3 40,000

AMEI =2ZU S 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
02 DIZtZAAMEE X 10,000 10,000 0

OAMEI 2=ZU3 10,000

A& HOIEE U3 7,000 6,000 1,000
307 QI2t01 ™ 7,000 6,000 1,000
02 DI2HEAAIEE X 7,000 6,000 1,000

OAIEI HOIE=ZUSI 7,000

A& U3 5,000 3,000 2,000
307 QI2t0| ™ 5,000 3,000 2,000
02 DI2HEMAIEE X 5,000 3,000 2,000

OAIEI g32U3 5,000

ANEI BHEQUEHU S 7,000 7,000 0
307 212t01 & 7,000 7,000 0
02 DIZtZAAMEE X 7,000 7,000 0

OAIED| BHESIEHHS 7,000

ANEI =S 6,000 6,000 0
307 212t01 & 6,000 6,000 0
02 DI2ZtZ AAMEE X 6,000 6,000 0

OAN&EI =3 6,000

A& OF 3 7,000 6,000 1,000

307 QI2t0| ™ 7,000 6,000 1,000




2N

M X=E 43
S HMSHAM HE ¥ X (e &)
SH-EHH . B(SH) - NBAY - B Y o A o SSa H RS2
02 DIZtZAAMEE X 7,000 6,000 1,000
OAIED or=2th = 7,000
AED E20U3 7,000 6,000 1,000
307 QI2t01 & 7,000 6,000 1,000
02 DI2HZAAIEE X 7,000 6,000 1,000
OAEI 532U 3 7,000
A&l ZHA B2 U & 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
02 DI2HE MAIEE X 5,000 5,000 0
OAIEI ZABHRCHS 5,000
AEI S32U 3 10,000 10,000 0
307 212t01 & 10,000 10,000 0
02 DIZtZAAMEE X 10,000 10,000 0
OAMEI s572U3 10,000
AED M= 203 15,000 15,000 0
307 212t01 & 15,000 15,000 0
02 DI2ZtZAAMEE X 15,000 15,000 0
OM11a AIEI A 203 15,000
AZED| B =3 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
02 DI2HEAAIEE X 9,000 9,000 0
OAMEI A= E 9,000
AMEI HILIACHS 7,000 5,000 2,000
307 2I2t0| & 7,000 5,000 2,000
02 DIZtBAAMEE X 7,000 5,000 2,000
OAZEI HILIALE 7,000
SRA HOHC M=UE 6,000 5,000 1,000
307 212t01 & 6,000 5,000 1,000
02 DI2ZtZ AAMEE X 6,000 5,000 1,000
020188 & Al &ZOH2 M= 6,000
d= EHA S S 80,000 80,000 0
307 212t01 & 80,000 80,000 0
02 AI2AtAAMAIEE =X 80,000 80,000 0
OUsStHH2 83 & Hd= EM L AHARIIUI 80,000
CHet&EOoH ol E2E 3 &bl ZHHAE RS 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
02 DI2HEAAIEE X 30,000 30,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHM21a HetEoe Sl & d=F0He
E 203 30,000
QHE s & 2201 el 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
02 IZHE M AHE L 20,000 0 20,000
OERAEU 83 AZ=x 22012 W3 20,000
AATEH T3 7,000 5,000 2,000
307 glz2tol & 7,000 5,000 2,000
02 It M AMHEE 7,000 5,000 2,000
OXeld DetE A2 sl 7,000
SHUEtSUHE 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 IZtE M AMHEE 10,000 0 10,000
OXM3s =M S ESSdLU= 10,000
HEXMEOHM=SCHS 30,000 0 30,000
307 21201 A 30,000 0 30,000
02 QItFAAHE X 30,000 0 30,000
OHM36sl dMet== NMEMS MU 30,000
SEHM 218 HolE=SUHSE 6,000 0 6,000
307 gl2tol & 6,000 0 6,000
02 IZHEHAHE L 6,000 0 6,000
OERHM J18 HOEZ2US 6,000
ANZI 223 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
02 It M AMHEE 5,000 0 5,000
OEZAZEI =83 5,000
s3] 2d & FSHIZ AU 25,000 0 25,000
307 21201 A 25,000 0 25,000
02 QB LA EX 25,000 0 25,000
Oszoell 2528 & d=HE3dlzl 25,000
2018 & =Hd 29 19,720 0 19,720
< 19,720
201 Let249H] 19,720 0 19,720
< 19,720
03 A2 S HI 19,720 0 19,720
OZJZ et EXNE & AT 15,720
< 15,720
Od=2M=E=Ua datss 29X 3,000
< 3,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od= FMAM=SUH d3t=8S 1,000
< 1,000
¥ZIT7 29 537,000 362,000 175,000
< 35,000
Al 502,000
NH¥HIR(=Y) 2 NA(BX) 397,000 362,000 35,000
< 35,000
Al 362,000
301 L2 A S 397,000 362,000 35,000
< 35,000
Al 362,000
Vo=t - 2SRES24=3 397,000 362,000 35,000
AFEINR 23 397,000
< 35,000
Al 362,000
A¥2sFIR 249 A 140,000 0 140,000
301 et a3z 140,000 0 140,000
o=t - 2SES243 140,000 0 140,000
OFFBZIR2I(NE=XEXZ) 140,000
M=I1EtAIE &5 2,910,678 3,890,985 980,307
J| 78,000
< 91,000
Al 2,741,678
MEAE =4 2 EHHl 736,000 1,628,000 892,000
308 MtXIEHMSOIH 176,000 0 176,000
08 WSII 0SS = 176,000 0 176,000
OR3Ex M2 MF(AMUHIRES) 176,000
401 Al HIZ 2018 560,000 1,628,000 A 1,068,000
01 A& HI 557,786 1,618,838 A 1,061,052
O33H=AE Zbl 35,000,000& *98.92% 34,622
Ontsttel MsSAE Fdl
20,000,000& *98.92% 19,784
Oontstel M@= &X 345,000
OS2I =XE MHLEAZ
40,000, 000& *98.92% 39,568
O=HHUAZE 223 At 30,000,000 x98.92% 29,676
O&E ANEIME S A 40,000, 000& %98.92% 39,568
OZES=HES3E MM2 =H FH
40,000, 000& %98.92% 39,568
O=2s ¢Eits M7 X (=UEo o) 10,000
03 A& =2 THHI 2,214 9,162 26,948
OZ232MSsAE EHl 35,000,000& *1.08% 378
Ontsctel MsAIE Fdl 20,000,000 x1.08% 216
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2N nEMs
3 s 243

Sl MSIIBAE =B (el Hg)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OES=HEIE =IE MHEAZ
40,000,000& =1.08% 432
O=HHUAZE 23 A 30,000,000& x1.08% 324
O&E ANEIME S A 40,000,000& =1.08% 432
OZSTASZA AM2 =¥ Z|
40,000,000& =1.08% 432
HIEAE N (de)(MsAd 24 & FH(2 300,000 1,635,000 A 1,335,000
%))
J| 78,000
< 91,000
Al 131,000
401 A& HIZ 201 8] 300,000 1,600,000 A 1,300,000
J| 78,000
< 91,000
Al 131,000
01 A& HI 297,660 1,589,740 A 1,292,080
OZed ASEMESAH(2018 B=HA ChHl)
50,000,000& *98.92% 49,460
J| 3,000
< 3,500
Al 42,960
OFgZHS2 HESAH (2018 2 HMA Y]
) 250,000,000& *99.28% 248,200
J| 75,000
< 87,500
Al 85,700
03 A& =2 THHI 2,340 10,260 AT7,920
OZEE AEMLBAH2018 B=2HMA CHl)
50,000,000& x1.08% 540
OFgZHS2 HESAY (2018 2 HMA Y]
) 250,000,000& *0.72% 1,800
HEALEE S22 374,678 427,985 A 53,307
101 124 dl 24,738 28,781 N 4,043
04 JI2ZtHZ22XREES 24,738 28,781 A 4,043
Ozg=l=s3d s M=&Y
60,2403 x8H x7 43| 13,494
Ozg=l=3d s =&Y
66,630 *4H x6 L 43 6,397
OS2 =2 % ¢ FXIHY(S
gole) 102,630 x2H 2 33| 1,232
OZEZZAST B4 A%
60,2403 x1H 60 3,615
201 Let24E] 259,550 261,114 A 1,564
01 At 22l 61,000 49,000 12,000
OMSAE sX2e 8272 9,000
Ost&Ea SXzel 2288 2 4,000

_20_
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2N nEMs
3 s 243

ol MSIIPAIE &35 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
I EoHA Il 250W 30,000& *307H 900
M EoHA Il 400W 50,000& *20H 1,000
HEeHAE Il 1000W 100,000& =104 1,000
Y IT 2000W 60,000& *80H 4,800
AYEX R 700, 000& =24 1,400
JIEF &1 X 1,000
Sgdl 2 15,0003 *30E x33] 1,350
as, AN 12,000 x2E x 15 x4 3| 1,440
401 AIEHI L 200 40,000 98,000 A58,000
01 A& bl 39,568 97,050 NB7,482
OFgaUsyHAE 3 A4 &X
25,000, 000& *98.92% 24,730
OFgZ2xMs2 XNIHHE 2IAAEH B
15,000, 000& *98.92% 14,838
03 Al& 201 Y] 432 950 N518
OFgaUsyHIAE S AE &X
25,000, 000& *1.08% 270
OFgZ2xMsa XNIHHE 2HAAEH B
15,000, 000& *1.08% 162
405 XtabF SHI 26,000 3,600 22,400
01 AL 2B F SHI 26,000 3,600 22,400
OFgzls2 2UHxY HHEX F¢ 11,000
ONEY sz 2857 15,000
3lolg HolZ 220,000& =14 220
3los okt 100, 000& *8H 800
AR E A 350, 000& 14 350
AR E o Xt 200, 000& =14 200
HHI R 200,000 =24 400
ZEH 1,000,000& = 1CH 1,000
DLIH 280,000 = 1CH 280
ey 300,000 =1CH 300
2% 200, 000& =54 1,000
25 U 500, 000& *54 2,500
L] 100, 000& *x5H 500
DA I3 1,000,000& = 1H 1,000
MOl 2 1,000,000& = 1H 1,000
WED 700
A& 600
gy A 700
JbA ¢l el Xl 200
MO BE 300
PSS RPN 150
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2N nEMs
3 s 243

S MFIALE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A& 300
Al E 200
EIpN; 100,000 *8H 800
A0IE I+ 1,500, 000& =14 1,500
FHLAH S7E &2 =4 1,500,000 0 1,500,000
401 AIEHIZ 28I 1,500,000 0 1,500,000
01 A& HI 1,494,600 0 1,494,600
OS2MSHH =2 28 ZdAY EX0HS
1,500,000, 000& *99.64% 1,494,600
03 Al 2 0HHI 5,400 0 5,400
OS2MSHH =2 28 ZdAY EX0HS
1,500,000,000& *0.36% 5,400
I UASFII=Z MY 40,000 40,000 0
QUM SHEH 22 ¥ IVUHBASI|B 2H(E 40,000 40,000 0
%)
307 glz2tol & 40,000 40,000 0
02 IZtA M AHE L 40,000 40,000 0
O=2HM 100 ERASHH &AA2E (AR
=i=p] 40,000
HH2F A 137,112 176,258 A 39,146
Jl2Zl 51,560 50,960 600
Jl2zl 51,560 50,960 600
201 Let24d] 28,060 28,060 0
01 At 22l 28,060 28,060 0
Oget=&H| 22,080
O= 2l 3,600
OUSHY SIRSUE OIKKAALY Aols &A
=g 70,0003 x5 %23 700
ORNSLHAVS HA2Y 70,0008 <122 +23] 1,680
202 Odl 18,700 18,700 0
01 = LH 4 HI 18,700 18,700 0
Ousidsl dRF=IHH 18,700
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORNEYY 2| 4,200
405 TtakF S| 600 0 600
01 AL EFH S 600 0 600
OZglH+7g 600
ol 2| 85,552 125,298 A 39,746
eIt (nsMs ) 85,552 125,298 N 39,746
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2H: DEASD
ol HY2 YA
Sel: o2y CERED

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 85,552 125,298 A 39,746
03 RIAHAZZAE S 85,552 125,298 A 39,746

OgrZ el (29,134 0/18t) 85,552
2= 1,275,930 x2H x12& 30,623
=g 1,845,930 & »2H x200% 7,384
d2=¢ 1,845,930& *»2H «80% 2,954
M= el 1,845,930 & »2H x250% 9,230
s (S A) 40,0003 x2H x12& 960
IrE=<(JIEH 20,0003 x2H x 123 480
Exges¢ 90,000 x2H x128 2,160
S S = 70,0003 x2H x 123 1,680
& Mz AlH| 160,000 »2H 122 3,840
JHAIE =l 110,000 »2H «12& 2,640
ME=3=E ]| 140,000 x2H 123 3,360
FEF Ol 1,845,930& x2H »120% 4,431
A2+l =& 12,2503 x10AI 2H+2H « 128 2,940
e ] 98,0043 x4L x2H 128 9,409
O 2 &b 65,336 x2H 152 1,961
=l 150,000& »2H 300
st =2 (D S5HM)

300,000 1 43| 1,200
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